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(a) Find the equilibrium in goods market (iS equarion).

(b) Find the equ.ilibrium in money markct (LM cqurrion).
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(b) Determine the equilibrium in money rnarket (LM equation).

@) Calculate the dquilibrium level ofincome and.rare of interesr.

Find the shift in the Lfl Curve if real money supply increases by 40.

1531

(e)

s-{

ETrr+1 ftqfufsa qrr-sTfr si G t ,

3c+r C=260+0.75Yd

:T=0.2Y

:l=296-16i

:G=340

:Md=0.2Y-8i

q{6rt @"i

g-<r +t qRfrE--fi qiq

E{r 6} **tr el.r{ffi , } = ,oo

(ol) qq qMR ii qrprr+{ril qR qtH (rs eqtfi.<ur) r

(s) U{r srqR i {rEnmgl ird ft1H 1py sfrqpr) r

(s) eTrc q 6qM qr g €rq{er H{ iR qtFri 
r

(E) qR qrilE-m Tfl B1 qffd C 40 q1 qk d qrfr t d r,rra

eTd fu'qqls al 66 eifirt r

(q) qR qrcilF+-n 5rr d wgd 40 q1 gk A qni

$ lq qrcqwetr wl ikT o.tH r

increases by 40, 5 x3

f{a{r



(a) Derive the IS curve. 
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(b) What factors determine the slope ol the IS Curve ?
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Explain the derivation of the Aggssgnls Suppl1,Cur,",e using thc phillips 
Curve.
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(b) What factors determine the slope of rhe IS Curve ?

(ei) rs Ss +i Em< q}fu.Ar

(q) rs rfi * ere ql qiq_qtT$ srr+. frrrffod uFG t
Or

(BrsEr)

Explain how a monetary expansion reads to an increase in income and a reduction in the rate
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2. (a) Derive the IS Curve.
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3. Derive the AD Curve using IS-LM curves. Show the ellect ofan
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Compare the impact of Monetary poricy and lriscal policl in the Munde, Fleming Model with
fixed exchange rate systcm.
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(a) How does the srnall open economy.diller from lhc large open cconomy ?

(b) Explain rhe effect of a fiscal expansion in a large open economy.

(et)d8 geri aelq-a5rn, e-.f, E-d 3lefqq{prr { t6-q y-orr firq d-fr.t Z

(s) q{ E-S qe1 eriq{<vt fr rrq-*tqiq e-qRlT * yqrEr d eqgrgi r

(b) Technological progress in Solow Model

(c) Steady State level ol Capital.
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(o) LM curve
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